
The acceptable range of the rail width parallelism is +/- .050" at the gantries and +/- .020" at the
lead screws. this is achieved when the rail is driven all the way out to maximum width and then all
the way to a determined set point approximately 1/2 the width, then at full closed, then again at
full open. all of the measurements should be within the acceptable range mentioned above.
measured at all of the points starting with onload lead screw, 1st gantry, intermediate lead screw,
second gantry, and finally the offload lead screw. if at any point in the measurement these are off.
The rail could be out of parallel or the back lash isn't set correctly or one or more of the couplers
is loose or out of adjustment.


